



Usa la proprietà distributiva per risolvere ogni problema.

Risposte

$$\text{Es)} \quad 15 \times 3 = (9 \times 3) + \left(\frac{6}{27} \times 3 \right) = \underline{45}$$

Es. 45

$$1) \quad 13 \times 5 = (4 \times 5) + (\quad \times 5) = \underline{\quad}$$

1. _____

$$2) \quad 5 \times 18 = (5 \times 8) + (5 \times \quad) = \underline{\quad}$$

2. _____

$$3) \quad 7 \times 12 = (7 \times 6) + (7 \times \quad) = \underline{\quad}$$

3. _____

$$4) \quad 8 \times 17 = (8 \times 7) + (8 \times \quad) = \underline{\quad}$$

4. _____

$$5) \quad 4 \times 13 = (4 \times 9) + (4 \times \quad) = \underline{\quad}$$

5. _____

$$6) \quad 5 \times 15 = (5 \times 8) + (5 \times \quad) = \underline{\quad}$$

6. _____

$$7) \quad 5 \times 16 = (5 \times 7) + (5 \times \quad) = \underline{\quad}$$

7. _____

$$8) \quad 16 \times 9 = (9 \times 9) + (\quad \times 9) = \underline{\quad}$$

8. _____

$$9) \quad 16 \times 3 = (6 \times 3) + (\quad \times 3) = \underline{\quad}$$

9. _____

$$10) \quad 7 \times 12 = (7 \times 7) + (7 \times \quad) = \underline{\quad}$$

10. _____



Usa la proprietà distributiva per risolvere ogni problema.

$$\text{Es)} \quad 15 \times 3 = (9 \times 3) + \left(\frac{6}{27} \times 3 \right) = \underline{45}$$

$$1) \quad 13 \times 5 = (4 \times 5) + \left(\frac{9}{45} \times 5 \right) = \underline{65}$$

$$2) \quad 5 \times 18 = (5 \times 8) + \left(5 \times \frac{10}{50} \right) = \underline{90}$$

$$3) \quad 7 \times 12 = (7 \times 6) + \left(7 \times \frac{6}{42} \right) = \underline{84}$$

$$4) \quad 8 \times 17 = (8 \times 7) + \left(8 \times \frac{10}{80} \right) = \underline{136}$$

$$5) \quad 4 \times 13 = (4 \times 9) + \left(4 \times \frac{4}{16} \right) = \underline{52}$$

$$6) \quad 5 \times 15 = (5 \times 8) + \left(5 \times \frac{7}{35} \right) = \underline{75}$$

$$7) \quad 5 \times 16 = (5 \times 7) + \left(5 \times \frac{9}{45} \right) = \underline{80}$$

$$8) \quad 16 \times 9 = (9 \times 9) + \left(\frac{7}{63} \times 9 \right) = \underline{144}$$

$$9) \quad 16 \times 3 = (6 \times 3) + \left(\frac{10}{30} \times 3 \right) = \underline{48}$$

$$10) \quad 7 \times 12 = (7 \times 7) + \left(7 \times \frac{5}{35} \right) = \underline{84}$$

Risposte

Es. 45

1. 65

2. 90

3. 84

4. 136

5. 52

6. 75

7. 80

8. 144

9. 48

10. 84